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MOFEEER - CHFEDHHRAE

(1) RERCH - &R (Bifi: t) [FEHEARHL]
X5 RAE#E ROFAE | RERAE (RERAE)
B 2 20, 662 19, 582 19, 380 R4EIE x HEED
Tl = 2 1,895 1,799 1,780 (REFAS)
K Z A 1,518 1, 456 1, 440 RERAE x HEEEQD
=g/ 7, 867 7,670 7, 620
(2) BERZH (B t) [BERIL (5 : BERTH) ]
R 5 RAZE#E REFAE | R6RAE (RORAE)
HER TR 10, 530 10, 419 10, 210 RAZEEE x tEE=D
FERE R 4, 296 6, 230 6, 230 (RERAE)
IS T AN S 4, 254 4,570 4, 570 RERAE x HHEQ
I3 T AN A 42 1, 660 1, 660

X1 FEREIRORE K UR6FIAEIT OV TIL, BUR TIZHEFH AN TE R 72D ZHAFHEA

INAF AN OREFAR (b) ZIELTCHEB L,

At ORE (a) 12

(a) 4,570t (b) 1,666t < 1,216t [R5.12H £ THOEEK] + (150tx34 HA) [R6. 1H~3ARiAZ] >
[FHEREIRRS-REFARE] (a) + (b) = 4,570 + 1,666 = 6,236 = 6,230 t
(3) LR - LER&LIESE (Bfik 1) [FEER#L)
X5 S REFEAE |RERAEx (RERAE)
LR 1,097 1,059 980 RAESE x #EED
BTV 21, 762 21, 293 23, 140 (RERAE) TiE(X2)BE

¥2 LR, LTGRO TR RIS EEAERL 0 TG P AR LB R 88 oD S fil & Rk

<@BEEEE) >

X4 i ED e D) C AR AR fE

(R5.12/R4.12) R4. 12 R5. 12 (R6/R5) R5 R6

BT IR 94. 78%| 15,990 t 15,154 t 98. 98% 21, 002 20, 788
e = 7 94.91%| 1,475 t 1,400 t 99. 02% 2,140 2,119
i NP 95.92%| 1,202 t 1,153 t 99. 33% 1,779 1,767
B 97.50% 6,106 t 5,953 t 99. 45% 7,593 7,551
HER IR 98.95%| 8,002 t 7,917 t 98. 06% 9, 473 9, 289
FHREI (A A ALSL)
FEREE (N1 A 2R)
9973 96.54% 833 k 805 k1
A LAEIG Ve 97.84%| 16, 745  k 16,384 k1




